CS (MAIN) EXAM, 2010

S1. No. 56 | C-DTN-K-NHB

MANAGEMENT
Paper 11

Time Allowed : Three Hours} | Maximum Marks : 300

INSTRUCTIONS

Each q-uestion is printed both in Hindi and in
English.

Answers must be written in the medium
specified in the Admission Certificate issued
to.you, which must be stated clearly on the
cover of the answer-book in the space
provided for the purpose. No marks will be
given for the answers written in a medium
other than that specified in the Admission
Certificate. ’

Candidates should attempt Question Nos. 1
and 5§ which are compulsory, and any three
of the remaining questions selecting at least
one question from each Section.

All questions carry equal marks.

Assume suitable data if considered necessary
and indicate the same clearly.
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' ) Section ‘A’

1: Explain each of the following terms in not'more
- than 10 lines each: ' 10x6=60

(a)
(b)
{c)
(D
(e)
(H

2. (a)

Sampling Distribution = -
BCG Matrix

Flexible Manufacturing System
Six Sigma Quality M.anagement
Microfinancing |

Digital Signatures

The Sea Wharf Restaurant would like to .
determine the best way to allocate a monthly
advertising budget of Rs. 50,000 between
newspaper advertising and radio advertising.
Management has decided that at least 25% of
the budget must be spent on each type of
media, and that the amount of money spent on
newspaper advertising must be at least twice
the amount spent on radio advertising. A
marketing consultant has developed an index
that measures audience exposure per rupee of
advertising on a scale from 0 to 100, with
higher wvalues implying greater audience
exposure. If the value of the index for
newspaper advertising is 50 and that for radio
advertising is 80, how should the restaurant
allocate its advertising budget in order to
maximise the value of the total audience
exposure ? 10x4=40
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1. ﬁw%ﬁaaaammﬁm&a%waa 10 w3
A3, Tz FHifsa .. 10x6=60

(=) gfazail sz

(@) Sr.Er.St. g

(M) 7= fafasior gomet
(w) B o omar gewe
(=) yew fadimw

(@) 3 geTER

2. (&) 97 arh &A1 . som%#@mﬁmwm
* gHER 97 fawmas i e faeea & @i
fraas & e o=2 ol =7 frgfor s 3ear
glgemm Ao fFar e s S w9 Q =4
25% @ HIfSAT F 9 AF THR U< ATyT =97 AT
T, 3 o s 9= fasrae 97 @ =T oY e
Tfr s € ey fasmea o @=€$f o aret
afyr & w9 § &7 [ A TR | o Fave
qURARTAT § T R gEeiw a7 G e 2,
Y 0 & 100 T 9%, FseT ¥ ofy w9 9 Ay
STATET T ATIT AT © | T 919 # Igac 7+
&7 30 AETFT rferR =iy IoTEA Slar 8 1 aft
TR 9= G & fog gt =1 719 50 ok
s fammowr & forg w80 &Y, A Fw AT
IENTEA & #IF & ferrantantor & forg TRy =Y
A faemaT w91 @7 fpw yar ¥ FaaT s
Tifew ? 10x4=40
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(1) Formulate the problem as a linear
programming problem.

(11) Find the optimal solution to the problem
using the graphical solution procedure.

(i1i) Which of the constraints are binding ?

(iv) How sensitive is your -solution to the’
estimation of index values by the
marketing consuitant ? |

(b) Comment briefly on the Standard Error of
Estimate for any given set of observations. 10

(¢) Distinguish between the V-E-D and the F-S-N
classification schemes of materials. 10

*3. (a) Product A consists of two units of subassembly
B, three units of C. and one unit of D. B is
composed of four units of E and three units
of .FF. C is made of two units of H and three
units of D. H is made of five units of E and
two units of G. 30

(1) Construct a simple bill of materials, in
the form of product structure tree.

(i1) Construct an indented parts list.

(iii) To produce 100 units of A, determine the
number of units of B, C, D, E, F, G and
. H required.
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(i) Gwear &t Haws TumE auer & oeT 7
gfaarfea fifsm |

Gi) ETT T w1 e R g
AT & TEAH T T AeqH Hiforg |

(iii) =TeaTe F ¥ ST @ STy 7

(iv) Faom aeesfarar g gEsiE " %)
gTFReT 9X IRt B foraaT gurer @ 7

.(H)ﬁaﬁ%%ﬁﬁqﬂqﬁz%%qmwﬁ

s qfE o w89 # Roquiy ffsgy 0 10
(71) sfay iy a9 € S ik U Qo YA FEter
GISATRY & (7 fEdeq fifow | 10

3. (F) IR A ¥ IU-GAE B 1 A TwrAr, ¢ Hdm
TFEAT SR D HY OF FFK & | B & @araT A/

E ¥Y 91 351371 A F 6 a9 =i € ) € FAT

BT M Y S gl o p Y Al ST & |

H <97 g1 & E &7 o= =@t ok ¢ it @

THTAT & | 30
(i) ST AT g9 F 'Y A qEiiEl & oF
g & =1 fAmfor Hifsg |

i) ®I 7€ gt i o g @ Faio fifong
- (i) A FX 100 THEd &1 IR F14 & fog,

B, C, D, E, F, G 3R H I simasas s&1edl
&t dear w1 fraior FHifong |

L
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: (b) The Material Requirement Plan (MRP) gross
requirements for item X are given below for
the next 10 weeks. The lead time for X is two

- weeks, and the setup cost is Rs. 9. There is an
inventory carrying cost of Rs. 0-02 per unit per
week. Beginning inventory is 70 units. 30

Week' . Gross Reguirements
20
10
15
. 45
10
30
100
20
40

10 , 150

Wi~ O alb W |-

Use the least total cost or the least unit cost
iot-sizing method to determine when and for
what quantity the first order should be
released.

4. (a) Foreign investment in India takes place in the
form of (1) Foreign Direct Investment, and
(2) Foreign Portfolio Investment. Bring out
your views on the merits and demerits of the
two forms of investment for their impact on
long-term economic development of India. 30

~(b) ‘New Industrial Policy has led to the rapid
growth in Gross Domestic Product (GDP), but
this growth has not really been inclusive.” Do
you agree ? Substantiate your answer. 20
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(@) 30T 10 |uET F fore we x v amwa T
TroAT (U R 9Y) ahed ATIRAHATE AT &F 313
81 X F forg smrar w3 ey 8, st T
TN E. 9 € | WIS TE@TE Sd 1T 301 9y 99T
®. 0-02 ¥ | fSrer Ay 70 TwrEEi €4 30

918 el 2ATIRGHATT
1 20
2 10
3 15
4 45
5 10
6 30
7 100
8 20
9 40

10 ‘ 150

T HTET T FH R gt 7T & forg s
ferar s =i, aw frafo w3 & g gaes
P ST 4T ~GAAHR FHh1% AN Q9 7=y fafer =
TEARTH hifod |

4.. (%) g ® faait fFeEr ) fEaf geowr fA3sr sk
- Q) AR s R F T ST ) wE

% ardepticrer snfde fasma v gas oo $f gfe

g, frasr & 1 2 w97 & Iur-Iey 97 g ffeR

- g fifog | 30
(®) ‘1% g Afa & ey g 9 INIE

- (SrEnn) ¥ ga wafs g€ @, g A ¥ 3w
iy gt A€ & & | T Iy T9E /e

2 7} I F = Hifg | 20
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- (é)"'In the context of FDI, distinguish between

‘greenfield strategy’ and ‘alliance strategy’
" with suitable illustrations. 10

Section ‘B’
Comment on the following statements in not more

than 10 lines each : 10x6=60

(a) ‘Data is used by clerks. Managers depend on
their intuitive judgement.’

(b) ‘Data warechouses are used to store historical -
data for audit purposes.’

(¢c) ‘Information systems should be evaluated on -
the basis of the level of technology used in ~
them.’

(d) ‘The goal of strategic planmng is to maximize
the profit of the enterprise.’ :

(¢} ‘The system of mdependent directors has not
worked in India.’

(f) ‘India has a large domestic market of its own.
- Export-led industry has very limited scope.’

(a) Exp]ain some of the technological develop- - |

ments that have led to the rapid growth. of
e-Business. 20

(b) In what way has e-Business affected the
operation and management of organizations ?
Give illustrations. : 20

(c) What have been the social and economic
implications of e-Business ? Substantiate your
answer with facts and figures. 20
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'(ﬂ)ﬁmaaﬁ%aﬁﬁﬁ ‘Idiee oAt st
L teTeREd o & i, mmﬁ%m

T fifsg - 10

ave ‘o’ |

5. ﬁm%f@amﬁﬁ&gﬁaqtlomﬁ%ww
feoqoit ferfeag . - 10%6=60

(F) ‘st =1 AT Ik AT a9 € | gHyw
arq%faiﬁ:gsrﬁqmaiwthﬂmaﬂ%r%i’ -

(@) ‘srper WRRP T S@qET g@rEar & fog

- Ufderfas siwst @1 wRw +A & forg e
T smaT |

() ‘g=aT gonfeEt v geaiw, SAE agen S

% wR ¥ e 9T ey s ke )

(o) ‘Toifas SrESET T e I W & g w6 |
Aftradior sAT AT €1 |

(=) mﬁmﬁﬁéﬁmﬁaﬁrwgﬁwﬁt@ | .
g1 |

(3) mewaﬁm%lﬁa&raﬁ’a
SanT &Y sga difaa gemsw 21 :

6. (=) 39 po SN famt Ff @ Fifs, ar

FAAET -FRITR HY g dafg g€ ¢ 20

(&) {-=ER F e &1 @ @zEl F gema o

- gmEE W gwifaa AT @7 wEreRer uwga

g | 20

(n)éanﬁmta:ﬁmrﬁﬁzﬁ?mﬁfawﬁumw@ .
€ 7 qudl ud St F I A9 I F L
Fiforg | _ 20
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7. ()

(b)

(c)

8.

(b)

(c)

Any supply chain process can primarily be
explained by “value chain” concept. Discuss
the activities representing the value chain of
any business house. 20

In a dynamic and competitive environment,
discuss how “Reverse Engineering” = and
“Concurrent Engineering” approaches help in
designing the right type of product/right type
of process. 20

“Core Competence” of an organization is a
concept that has often been used to explain
why certain organizations have achieved
success in highly competitive environments.
Explain the concept of Core Competence
citing a few examples of industrial firms. 20

It is argued that India has achieved much
higher rate of economic growth after its
increasing globalization and integration with
the world economy. Assess how and to what
extent India has benefited from the process of
globalization. 20

Comment on the balance of India’s foreign
trade. Is it sustainable in the long run 7 What

- policies would you recommend to correct the

balance ? 20

Should Indian industries invest abroad when
there is shortage of capital in India ? Critically
analyse. 20
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7. (a)ﬁ?@eﬁmwmaﬁm ‘T
HEAT T HheqnT & RT. GHAET AT HHAT 2 |
foret SR =T 7 g5 geer @ el
FLA AT S FTar 93 ==t Fifeg | 20 -

(@) ==t fife 5 s @ oufas sfaw §
g goR |, IuE F gE TR/ IFH F g
mm%qm%maﬁﬁm@%%|

20

(n)maﬁr ‘A wEwWar’ O@ UHl 9hogdT ©
SraeT sreraR g7 Tose & & forg seawe e
SITaT-3ET & o oo faw gawsAT ¥ s=<: oufars
q&%sﬁﬁ%ermﬁmma?r%l
A= FAT & FH I 1 ITET 2 U
TS AT F FHedAT S GHATIT | 20

8. (F) Tk RKar smar 2 & 9@ 7 3w =g gQ
aediEr R daR & Iad e & @
TR0 & qeeTq fa 9= anfie safg ax aw
#FY B | Ao SifSe & wwka = v g9 ek
fora &M o Sydieor ¥ 9w & @9 o

- g1 20

(W) TE & Ry R @qen v fewet fafaa |
a1 < e § g€ g € 7 dgad @ geed
m%%qw%#%ﬁaﬁﬁwﬁarzﬁi—?r?

20

() ST AR # gt ¥ srugtaar @, oo §= 9Ra
SRt & fGRwr ¥ Ay s =feu ?

wwhamqﬁmﬁsﬁwaﬁﬁql 20
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e D
gy-9= 11 -

aug ; div gqu2 | qurfer : 300

. A
g g [T sl siat &I 7 &9 & 1
g9t & SO} Iat aremE 7 @ s =wiiee
frasT JeorT 9% gaw-97 A faar T 8,
IR 3@ ATAT FT TWE I FA-JEGF &
qa@-9¥ 9 sifFa (Afdw e 97 faar smAr
SR | GIT-97 91 Ifeerfayer Areas & srfafces
7 fahat Areaw ¥ for@ 1 IO 9 &I AFH
7el e}
geTHear 1 3 5 dfaard &) ardfr At 7 @
g @Ue & FH-T-FH QF 97 JAF fha
i gv T & T /faT! '
Tt gl F 5 THAE |
afe smaraw g ar aqgﬁ?maﬁ“r FT 97
Forg qur IH f[Afde #f5g |

Note : English version of the Instructions is printed on
the front cover of this question paper.




